Vaghnkulmat . g
FA = 22° Fp=g1° X C=p1
XD =37° ABl=41°| | |9 F =62 FP

ovar L(m‘z‘% Sturia

%W 5% Millakaava
LUy D)
Fq

D..—-ﬁ = ?i,mm = ;!
AR bAmm
en || (dHmm| | |
BC | 68 wm| | &
DEL | A6 mm| | 1
@ ACT L AD mm | |
10 0y R Mitalaayo, aina. Supisbefussa
® B %j I”F—[ \{kemkcr%afsa‘mmas@i? musy§sq
Cim Cua

Mittakaava ‘ch}t : éjwm‘mw

L SERL| Ve 24
L) @

u ’

| 2:3 R
&
T i a) 158
3 il e
. i e . "KﬂMWL 6‘6’&’21
A Ll 2 | Ko rkevs 3 6=% =1
-kb{lmlélf'
b) _lt:iB




fj Sovell 5¢  Mittakaaun

S, 19F
R a) Kuvp AlkUme
.45 -2
T 80 |7
1: 40 Ve 4o
. Mlwpani
}7) EKI/\{QUI%: : Hoo iR Sama %kﬁw)}.’
b - 000
[+ 200 V: |2 200
Uyee + A[ Ui
C} { jﬂ w}? ” (3 :
Vi 4i &
T T O E a) | 112
i Z(l’NkUme\ Lok, 1Y QJ[;—} ®
K ~ orkws -ﬁ,,%:& |
y s ?
s 3-8=°’f=@ Tk
g0
Korkeos |3 f=22p | | e |
Q) 1:1 Kanta 81 - |
) Kprkens Y- (=Y : } Py
%
' Dot tped
8 A3 Yawk 3-%—53 " ®
Korkeus % 4 =23 i
53

@ C

Db/ @~ 5— 5= F5m
tr @- 1"—‘{5 Eﬁ 61S =~ LECM
2 10,5 = 5;1Y ’53(_‘4««

b e




